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EA) &8 ~RZ b 24 L &1L Z¥F AFL—=UL— 4x50
100 Fr 54.40 54.40 3 | 0.00 2 ~NZR b 24 L
TH HEA
200 Fr 1'59.34 1'59.78 | 2fii | 0.44 - — 30.31 30.31
50Fly 25.50 26.24 1% | 0.74 =S | 35.30 3450 | 1'04.81
F#ER B
100 Fly 56.79 57.60 21z | 0.81 - - 29.42 | 1'34.63
50Fr 27.20 27.35 ofz | 0.15 - - 26.55 | 2'00.78
ik RE
100Fr 1'01.80 1'02.24 | 144 | 0.44
100Br 1'09.87 1'10.54 | 66 | 0.67 TF AFL—=UL— 4x50
RE T4E
200Br 2'27.21 2'31.83 | 4 | 4.62 EA) ~RZ b RA L
A# = 1500Fr 16'41.91 | 16'42.33 | 2fi | 0.42 - — 30.44 30.44
50Fr 27.85 2754 | 10fk [ -0.31 — — 35.85 | 1'06.29
ik KB
100Fr 1'02.45 1'00.73 | 121 | -1.72 BRER4 | 28.62 28.34 | 1'34.63
HXEE | 26.68 25.39 2'00.02 |s#- &
EA) &8 ~RZ B 24 L Bz
50 Fr 25.33 26.23 1z | 0.9 [JOC BF AXFL—=YL— 4x50
HXk BE
50 Fly 28.07 28.64 1 | 0.57 ZHi ~RZ P 24 L
50 Fly 28.69 29.04 2{% | 0.35 - — 30.53 30.53
BE &4
100 Fly 1'02.57 1'04.64 | 1fi | 2.07 - - 32.16 | 1'02.69
50 Fr 31.40 31.03 | 10fk | -0.37 - - 27.42 | 1'30.11
158
100 Fr 1'08.13 1'07.57 — | &% REZRE | 25.38 25.89 1'56.00
50 Fr 28.50 28.99 | 10fiz | 0.49
pa s JT N
100 Fr 1'01.26 1'01.81 | 5fi | 0.55 BF XFL—JL— 4x50
B 50 Fr 28.54 28.60 7% | 0.06 & ~RZ P 24 L
=mH BE
100 Fr 1'02.98 1'02.65 | 6fif | -0.33 - - 25.60 25.60
200 Fr 2'08.80 2'09.77 | 2fi | 0.97 - — 29.02 54.62
HE 1238 —
100 Fr 1'00.85 1'01.40 | 21 | 0.55 #EFRB | 25.50 25.15 | 1'19.77
100 Br 1'16.95 1'15.36 | 3fif | -1.59 - — 23.75 | 1'43.52
B2l KEH
200 Br 2'42.88 2'43.95 | 2f | 1.07
A m 100 Fly 1'06.48 1'06.93 | 4fif | 0.45 BF AXFL—YL— 4x50
= | 200 Fly 2'23.29 2'24.42 | 1ff | 1.13 AT ~NZR b FEPN
— 28.11 28.11
BF 7U—=YL— 4x50 FAHsA | 31.36 30.42 58.53
eI ~RZR b 24 L - — 26.05 1'24.58
- — 25.74 25.74 SHIHA | 24.93 25.29 | 1'49.87
RERE 25.38 25.55 51.29
— — 26.33 1'17.62 ZF 7Y—YL— 4x50
- - 26.13 1'43.75 |6fiL EAT) ~RZX b 24 L
HkiEE | 25.33 26.02 26.02
BF 7YU—UL— 4x50 - - 26.54 52.56
&Hi ~RZR b RA L BEES4 | 26.62 26.93 | 1'19.49
— — 24.64 24.64 — — 27.86 | 1'47.35
ETHEA 24.93 24.85 49.49
BAHZFX 25.28 24.77 1'14.26
- — 24.93 1'39.19 |44if
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